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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

December, 2017 	05659 
ELECTIVE COURSE : COMMERCE 

ECO-007 : ELEMENTS OF STATISTICS 

Time : 2 hours 	 Maximum Marks : 50 
Weightage : 70% 

Note : There are three sections and all are compulsory. 

SECTION - A 

1. 	Fill in the blanks with appropriate word(s) given 
in brackets : 	 5x1=5 

(a) In 	 interview, set questions are 
asked and the answers are recorded in a 
standardised form. (Formal/informal) 

(b) In a 	 skewed distribution, the 
value of the arithmetic mean is the highest. 
(positive/negative) 

(c) Ratios, percentages, rates, etc. are 	 
derivatives. (Typical/Simple) 

(d) 	 plays an important role in 
checking the symmetry of data. (Median/ 
Mode) 

(e) In a frequency distribution graphs, value of 
variable is shown on 	. (X-axis/ 
Y-axis) 
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2. 	State whether the statements given below are true 
or false. 	 5x1=5 

(a) Range can be calculated for an open-end 
data. 

(b) Measures of dispersion and central tendency 
are complimentary to each other in 
highlighting the characteristics of a 
frequency distribution 

(c) Data array is very useful when the number 
of observations is very large. 

(d) Among the three averages (Arithmetic 
mean, Geometric mean and Harmonic 
mean) the Harmonic mean in the least. 

(e) Primary data are called first hand data. 

SECTION - B 

Attempt any two from the following : 
	

8 

	

3. 	(a) The following are marks obtained by 
60 students in book keeping. Represent them 
with the aid of 'tallies' by grouping them by 
class interval of 20. 

0 4 8 16 0 9 13 18 16 19 

76 91 49 36 54 62 85 45 20 24 

66 65 75 80 63 67 98 85 87 25 

38 39 51 41 33 30 26 29 23 28 

74 78 95 87 67 52 73 69 66 58 

46 76 38 48 55 47 60 70 84 82 

(b) What is class interval ? How do you 3, 4 
determine the magnitude of the class-
interval and class limits ? 
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4. 	(a) Find out the standard deviation of the 
following data by shortcut method. Also 
calculate their coefficient of standard 
deviation. 

8 

I  10 I 12 

(b) Distinguish between a schedule' and a 4, 3 
'Questionnaire', and state the essentials of 
a good questionnaire. 

5. What do you mean by non-random sampling, 
random sampling and stratified sampling ? 
Explain with the help of a suitable examples. 5, 5, 5 

6. (a) What is statistical error ? How does it differ 
from a mistake ? How would you measure 
it ? 	 2, 4, 4 

(b) If Relative error is = 0.5 and absolute error 	5 
is = 20, find out the Actual value. 

SECTION - C 
7. Distinguish between any two of the following : 

(a) Bar Diagram and Pie Diagram 	5x2=10 

(b) Ratio and Percentage 
(c) Mean and Mode 
(d) Lower quartile and Upper quartile 

14 116 18 20 I 22 I 24 26 28 
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1. 	ci)tdef;1 -44 t7 1TR klec . -44 3r111Wf kl ,sq 	tcti Te1T91 

: 	
5x1=5 

(a) at-dif-d fitTift-ff 747 

TOM-7 	311( Lkm 4-11 1 ch 	4,1'4 'i fr*-12 
`t 	Lk .0 t I (311-cm-riwa-~-k-w) 

(b) faqir 'rd.-T{7'4 

tc-44 3-ucR1 1-1 	 t i ( t4917-1:1/7tsulIcHcb) 

(c) 3TTITff, 	 atIT 

t I ( 	MiCtV-11/iitri) 

(d) **fa,. 	 7f9* ct.) 

Iftwif91TraTt i (Trrilzwywrew) 

(e) 3iTqfd-z.7 	Rol  

	

 	turR ,30 t I (X-3T4T/Y-314-1) 
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2. 	emilw 	r-ii-iiiirtsict 14 14 47 -gr weri Trit t ath 
Trr TiFF I 	 5x1=5 

(a) ratcli 131tft 34"-*If 	'FF7 fd1717 (range) WT 
LiRchril 	time t I 

(b) 3T74-17 at{ 	3r-lt * -47rEr 37-1 4e.-1 
f-O-Er-dratt -0 mcniPici cf.>4 	 itta, 
tl 

(c) 7.4 tRit (R4-cm-11) 	err A-F 0141 t 
3t*3T-Sh4-I 	 t I 

(d) (AM, GM AT HM) -4, $ticiichl:fral 
$1dr t 

(e) -9-pftrT 31-f-*1 	-41-r-ff-  aTf-*-tq)7T AM! t I 

-1+-irortgd 	 14 .14 ftt -5P9'f drR qrs51 
	 8 

3. 	(a) 	m61 Tgr - -14 60 fq-arrztz4 	3 	-14-1 (1 (Ad t I 

20 t aJi 3f-d71-A 14fIT (tallies) 	 
traka a,t fit 

0 4 8 16 0 9 13 18 16 19 
76 91 49 36 54 62 85 45 20 24 
66 65 75 80 63 67 98 85 87 25 
38 39 51 41 33 30 26 29 23 28 
74 78 95 87 67 52 73 69 66 58 
46 76 38 48 55 47 60 70 84 82 

(b) 	̀71:1""e rcht. ct)zi ? "4TTf- T T fd1717721T 	3, 4 
1111:114 rcnii mew fiqfftffwIci ? 
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4. 	(a) 	14-1 zi tsicf Tit 	317T7 (4-itich) f'd'qM7 r 	8 

trd 	fR-*-# 	.5fT:rrq fw-ei 	vict, 
f-i-*-# 

10 12 1 14 1 16 1 18 1 20 1 22 1 24 1 26 1 28 

(b) 4, 'zT.170V 	 ' 	-4m-47w -cTw 347T 
Aklictri) 	3-TrdVEW qui). 	V1F-A7 I 

5. 3 5I FcrcitH, iiircoch Jci-qtfrt 	RRITa.  
5, 5116-ti-f .K11 	? 	dcWul 	i-1 4-1-11 	I 	 5, 

6. (a) 41sich1i fawr' tr a:Err arc 	t? 3p11-4 i 

441 dch f T t? Tgwr 	31-rcr f-*74 Mc N. 
2, 4, 

131trg - 74' 

7. 	 5x2=10 

(a) qus 3ilta. 72TT 71-zi 3-ft 

(b) 31TO21-F 31fo1 u 

(c) -grrt71* .4-g-o.w (itzrisav) 

(d) f9T7 77-tW 721T dLiii 4* 

3 

5 

4 

(b)    	fdViDi 0.5 t 3117 F-1 k -4 fa 1r 	5 

20 ti 1R-clrach Ti-e4iic-1 - 1-r--44 
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